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int f{int x, int y) {
if (x =y) return 0,
else return fix-1,y) + 1;
}
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it i, sum = 0;
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void mamn() {
int i=1, j=5;
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} while(j=0);
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public class A {
private double x;
public double getX() {
return (x+5),

}
protected abstract void setCode(double code),

}
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abstract class Instrument { abstract public void play(); }
class Wind extends Instrument {
public void play() {  System.out.println("WindPlay");  }

class MusicPlay {
public void tune(Instrument i) { iplay(); }

public class Music {
public static void main(String]] args) {
MusicPlay mp = new MusicPlay();
Instrument ins;
ins = new Wind(),
mp.tune(ins);
}
)
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Vector vectNames = new Vector(),
String[ ] strNames = {"Michael", "Eric", "Jeff", "Joel"};
for(int 1 = 0; 1 < strNames.length; 1++)
vectNames.add(strNames[i]),
Collections.sort(vectNames);
System.out.println(vectNames.get(0));
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St]iﬂ.g[] strl —_— I[I‘FAFI} "BI‘F, FIC", I‘PDFI};

St[.i_.ng[] Str2={ "A_"p FIB"} ;

ArrayList list] = new ArrayList(Arrays.asList(str1));
ArrayList list2 = new ArrayList(Arrays.asList(str2));
ArrayList a = (ArrayList)list].clone(),
System.out.printin(list1 .containsAll(list2));
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Suing[] strl e {"A", "B", "(:Fl3 "D"};

Sh.h.lg[] Stl.'z={"A.", II‘BH};

ArrayList list] = new ArrayList(Arrays.asList(str1)),
ArrayList list2 = new ArrayList(Arrays.asList(str2)),
ArrayList a = (ArrayList)list].clone(),
System.out.println(list].remove(list2));
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